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Abstract

Given AABC, define point P which meets [PA - a| = [PB -b| = |PC —c| as “FEE" .
While studying the existence, numbers, and graphing of these points, I found these question
can be solved by using several conic sections which meet any two of them share only one
focus, and point Q which meets QA +a = QB+b=QC +c is involved(I defined this point
as “SFAIEE” ). Then I found some properties that certain lines related to several conic

sections will share one point. By using these properties, we can prove some properties of
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1.3 FFRELFER
1. £ AABC W #Ea~b~ch 2A~ 2B~ 2C H¥HEEE

a+b+c
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r=s8s-a To=8-b rzg=s-c s=

(1) Jo~ Jy ~ J. BTE BC ~ AC ~ AB BHIZ5 0
(2) FEBRWE |[PA-a|=|PB-b|=|PC - WFTARE P -
(3) EMIEEHE QA+a=QB+b=QC +c HIFTEL Q -
2. @P(r) : LL P BEAELL ~ 8% r ME > SEE A oP(r)
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2.1.1  Z2E0R [1]R1EE
B8 [PA-a|=[PB-b|=|PC -¢|* W5 RNUMEEE
1. PA-a=PB-b=PC -c,
2. a—PA=PB-b=PC —c,
3. PA-a=b-PB=PC -c,
4. PA-a=PB-b=c-PC.
YE @A(rs) ~ ©B(s) ~ oC(r1) ° F1E oP ~ oP" EL=[EAHY] > W& 1> A
PA-r3=s-PB=PC-n
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PA-a=b-PB=PC-c
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B =[BIAEY] - Fr DASE 22 B2 B = B AR U Bl R B O

HSGAE AT A VB R [EL OB R 228 > WiE 3 - oQ BE=EMY i = EaE&nEn - H
QA+a=QB+b=QC+c> PrFEEEBMNES » U Q HEFEL o HIG%EE, - &
BRI RRER 1% -




2.1.3 FZEEMERBE

FERFEISF 2R OSBRI T 1A% - B3 T UUMEE -

L BRTEA=MAFI - EAHE\EE 0A(a) ~ 0B(b) ~ oC(c) MY - FHE =1
RS R - BB FEANE DR EFERESE - — B DM EFME A E
FoMRE -EA=MEEE > WE 4-5-6°% a>b>c> AIRHE 5 KF=58RNI

1 1 1 PN N
\/—*+\/— =1/ — » HMELI T4 -
1 T2 T3
. 1 1 1 1
SEBRa>b2e AIE [ — </ —+\/— WELESZEDR - —(HEME -/ — >
1 T2 T3 1
1

\ /7 +1 /Ti RPA/NE 2R ~ WESME: - EA=ARUESEMES -
2 3

FHHMBEBME 2.1 1FE 2 4 WFEREACE M ~ WEBE 1 105 ER B ERMBE R
BB R o BTLLLU N A S ARSI A\ 58— TR T -

2. RS04 - AR ~ SSMBSEGLERARERSSL - AL -

3. MU ZEGEL K 0 A(a) ~ ©B(b) ~ 0C(c) FI=FRET-CARILES o

LUN 3R BT S R 2 - A 2.3 A o

& 4

2.2 FHIRENF LB ME
2.2.1 SZEILEE ML
HEEBER » WS EGREEE — L FE AR E MR - EE 2 Bl

Iy :PA+PB=a+b Ty : PA+PC=a+ciaMmEREERIMIEZCE o B LI AH % 2B,
AR B0 BooE Lo — F R ARG A (B B i ARAO SRR o DUN (EIREE LA — Ft R fR i A [ o
HARAPEE -

RERBIR IR - — (AW WA — I [F R EASCAOMRIE - IRy = RS BE AR RS - B
TR L (R AR R [ $E il SR A0 SR AR o



2.2.2  WMEEIROAS By EAR

B A(x1,y1) ~ B(xa,y2) ~ C(x3,y3) ~Ty : PA+PB=a~Ty: PA+PC=b>a,b>0° Lk
THIE A+ B+ C ~ BB BRI ZIRIH o
B P(x,y) W

(-’ +(y-y1)?=r> — — — — — — — — — — - — — — — — — — — — —
(z-22)?+(y-12)°=(r-a)® — = — = = = = = = = = = — — — — — — —
(z-w3)’+(y-ys)’=(r-0)> — = = = = = = = = = — - — - — - — — -

@xb-Q@xa-Dx(b-a) =
a[(x—ws)z+(y—ys)2—($—$1)2—(y—y1)2—b2]
:b[($—$2)2+(y—yz)Q—(x—xl)z—(y—yl)z—GZ]

BN B 20 B AR ) 5 FE 20 o UL AT A E 2 B " oC(b) ~ ®A(0) ~ ©B(a) = EHIR
Lo ATRUE AL

® O 6

a[($—$3)2 + (y—y3)2 - (30—331)2— (y—y1)2+ab]
:b[(z—!EQ)Q +(y—y2)2 _($—$1)2 - (y—y1)2 +ab]

I, T S 2 B SE 48 0C(0) @A(\/_) ©B(0) ZEFIRL o AT LA #5250
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Ly ~Ly> L~Ly~ Ly 85w 7~ 8

. P REICE: ~ EACEESOE MY - o E IR EAR
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Lyt a? +by? + oy +diz +esy+ f; =0 (i =1, 2)

HR BT A(a,B) ~ B(v,0) ° TBEELR A
L:(B-6)(z-a)-(a-7)(y-8)=0
RS BERATA Ty FORRARRN A T, i@ CEARIVIAR - MIGARAREE L LB o MRAR TR0 A

La; x(?aia + Ciﬁ + dl) + y(CiOé + szﬁ + 61‘) +d;a + ezﬂ + 2fi =0
Lp;: ZL’(Q(ZZ’Y + CZ'(S + dl) + y(Cl’Y + QbZ(S + 62') + dz’}/ + 67;5 + 2]('1 =0
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kaxLgi+lpgxLag=L — — — — — — D
kpxLpy+lgxLgy=L — — — — — — @

HAf kg~ kg lalp BEE O~ Q@ HF95AN(1,6) ~ (o, B) * 15

kA ["}/(2(1104 + Clﬁ—f-dl) + 5(cla+ leﬂ + 61) +d10& + 6154— 2f1]

+la[v(2asa+ cafB +do) + 0(coar + 2b2 8 + €3) + docv + €28+ 2f2] =0— — — — ®
k‘B [7(2@1’7 + 016 + dl) + ﬁ(cl'y + 2()1(5 + 61) + dl’y + 61(5 + 2f1]
+ZB [a(2a2'y+025+d2) +5(CQ’Y+ 2b25+ 62) +d2’}/+ 62(54— 2f2] =0- - - — @

Besl > @ b by HIVARBEMZE @ b kg HREUER - T 14 ~ 1 IRE > BT
A katkp=la:lp> X ka=mkp, la=mlp°

WL PEE—E P(a+t(a—-7),8+t(B-0)) *» MERARR

Lp; : x{2a; [a+t(a-y)]+c [B+t(B-0)]+d;}
+y{ci[a+t(a—-v)]+2b;[B+t(B-0)]+e;}
+d;[a+t(a-y)]+e [B+t(B-0)]+2f;=0

I
kaxLpy+1lgaxLps
ZkAX[(t+1)XLA1—t><LB1]+lAX[(t+1)><LA2—t><LBQ]
:(t+1)><(k‘A><LA1 +ZAXLA2)—tX(m]€B><LBl +mlBXLBQ)
=(t+1-tm)L
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Li: a? + by’ + iy +diz+esy+ f; =0 (i=1,2)

JEAEE R A(a+ai,b+ 3i) ~ Bla—-ai,b-Pi) > a~BeRe
L Fyifil A~ B WERE—ROTER > 7S

L: B(z-a)=a(y-0)
VEEARBIHIBAR TR La; > L (1=1,2)

Lai: z[2a;(a+ai)+c;(b+pi)+d;] +yl[ci(a+ai) +2b;(b+ fi) +e;] +di(a+ai) +e;(b+ 5i)+2f; =0
Lp;: z[2a;(a—ai)+c;(b-Pi) +d;] +y[ci(a—ai) +2b;(b- Fi) +e;] +di(a—ai) +e;(b—Bi) +2f; =0

La; > Lp; 2
{kAXLA1+lA><LA2:L - = —

kBXLBl+lB><LBQIL - = =

@
@
Eﬂi@*ﬁﬂiﬂ’ﬂﬂé\ k‘A = mk;B, lA = mlB °©

& L FAE—B P(a+ta,b+t8) > MfGALE

Lp;: z[2a;(a+ta)+c;(b+tB)+d; |+y[ci(a+ta)+2b;(b+tB)+e; | +d; (a+ta) +e;(b+tB)+2f; = 0
fi#E T H B SRR
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kAXLpl +ZA><Lp2
=kax[pxLai+qxLpi]+lax[pxLaz—qxLps]
=px(kaxLai+laxLys)+qgx(mkpxLpi+mlgxLps)
=(p+qm)L
15 = 4R Ft s -
FE A 0 (B 5 AR i AR @%%%ﬁ/ﬂf%ﬁﬁﬁﬂﬂﬁ 'y "Iy & L EAE—BG/ERAR
[y~ Ty AUMIRAREL L 286 > AIRE L 7% Ty ~ Ty AUSEARES o UL 2.2.1 pUEEE I
J& ° O

2.2.4 —W5E ~ —& g ZRAEAREH

B A(z1,y1) ~ B(xa,y2) ~ C(xs,y3) * Ty : PA+PB=a~Ty:|PA-PC|=b° %§ PA-
PC=biE—XE T, HIZCE > W/ PB+PC =a-b> Tz BhEsg AR E I, : PA+
PB =a # T3:PB+PC =a-b WZZEGEGEAME o T 55— 32 LAy 28 B8 45 Al
'y : PA+PB=a~T%: PB+PC=a+bWEHELMEE -

BH Ty~ T FCEHEE T ERRE L

a[($—$3)2+(y—y3)2—(fﬂ—$1)2—(2/—?/1)2—b2] = b[(x—x2)2+(y—y2)2—(x—x1)2—(y—y1)2—a2]

FRETEL Ty ~ Ty SRHEE ~ a ~ b 25 K W REIR —1%
I Ty~ Ty B3R RE L

a[($—$3)2+(y—y3)2—($—$1)2—(y—y1)2—b2]+b[($—$2)2+(y—y2)2—($—$1)2—(y—y1)2—a2] =0
AR L ) oC(b) ~ ©A(0) ~ ©B(a) BIRL » ATEE A
a[(x—x3)2+(y—y3)2—(x—x1)2—(y—y1)2—ab]+b[(m—x2)2+(y—y2)2—(x—x1)2—(y—y1)2—ab] =0

MR TTA L i oC(Vab) ~ ©A(0) ~ 0B(Vab) HIFL »
L~ L' #5 Ty ~ Ty BRG] -

2.2.5 HEE ~ 8 AR 2 A0SR

A 2.2.4 F L BYJ5TREFUR Ty ~ Ty $9RMEEIRF—5 » J5H L' 1€ T > Ty B RIEEEET %
BRI 2 Ty > T HOSEARE -

EH 2. T: [PA+PB|=a~Ty: [PA+PC|=b~ A(x1,y1) > B(xa,12) ~ C(z3,y3) Al
L:  al(w-23)*+-ys)’ - (z-21)* = (y—51)* - b°]
:b[($—$2)2+(y—y2)2—($—$1)2—(y—y1)2—a2]
L' al(w-3)’+(y-us)’ - (@ —21)* = (y—11)* - b’]
=-b[(z-22)* + (y-12)° - (z—21)* = (y — 1) - @®]
Pk Ty~ Ty HFEARE

B, LUSBIE R B MEETR EE .
)E;‘)i A(xl,yl) A B(xg,yg) A C($37y3) Ty : PA+PB=a T9: PA+PC=0»
A Ty ~ Ty BRZRIE

I'y: [(95—562)2+(y—yz)z—($—$1)2—(y—y1)2—a2]2=4a2[($—$1)2+(y—y1)2]
To: [(z-23)’+(y-ys)’ - (@-21)* = (y- 1) =0 =4b°[(z - 21)* + (y —y1)*]
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Ty xb?-Tyxa® =
Vl(z-22)*+ (y-92)* - (-21)* - (y—1)* - a*]
—GQ[(SU —3?3)2 + (y—y3)2 —(z —961)2 - (y_yl)2 —b2]2 =0

ERENR Lx L' UL L~ L' % Ty ~ Ty MVECREBRESCRELR - T 2.2.3 AUEE
L~ L' ¥9% Ty ~ Ty HOERED - O

i EHEREI - Ty ~ Ty BANEER L' 785 Ty ~ Ty BORERE » rI#ESERE 3 -
EH 3. A —HFEEEREE R A MEAE R
REEH. REATEH 2 EEATIATSE 0 BR L AT AUSCE - W
al(x - 933)2 +(y - y3)2 —(z - 3?1)2 -(y- yl)2 - b2]
=-bl(z-22)?+(y-p)’ - (z-21)° - (y-y1)*-a’] ———- @
Ve—w)+-wP+V/@-a)’~y-u)l=a - - - @
@ AN D=

a[($—933)2 + (y—y3)2 - (30—361)2— (y—y1)2—62]

=-bla(Ve-22)?+ (s -12)° - Ve -2+ (y-1)?) - @’
BRA—U > BE (@-m)2+ (g-p)? » 13
(2 -25)%+ (y-93)° = (@ -:1)* = (y-y1)* - =26 (V(& =212 + (y - 1)?)

LR R

(V@z=23)7+ (1/—@/3)2)2 -(V@=22+(y-u)? +b)2
FTLL L' #1 Ty BB PA-PC = b 8 PA+ PC = -b > RENE  LCHLAEHE
MR PA+PC=b> BTG » TLL L' R8s - v — SRR R Z A Em
{E BB -
HEEY 2.2.3 FRFIFOEBUER - LU L B5E SRS - L' %% SR - O

2.2.6 HEYHE

B 4. Z(EM I —EEOREE S E AR 0 —AHBURE A L~ L)~ Lo~ Ly~ Ls~ L o
R LyLoLy 3B~ LiLL LY 3EBE ~ L Lo Ly $285 ~ LI L Ly H35 > f0E 9~ 10~ 11~ 12
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RGHA. SeiE LiLoLs B

Li: al(w-z3)+ (y-ys3)’ - (w-21)* = (y—y1)” - b°]
=b[(z - $2)2 +(y - y2)2 - (z - $1)2 -(y- yl)2 - a2]
Ly:  a[(z-23)"+(y-y3)’ - (x-22) = (y - 12)° = €]
=c[(x —11)2 +(y - y1)2 - (z- 5E2)2 -(y- y2)2 - a2]
Ly:  bl(x-22)?+(y-v2) - (w-23) - (y-ys)* - ¢*]
=c[(z - $1)2 +(y - yl)2 - (z - 553)2 -(y- ?J3)2 - bQ]
AE Ly (R LR

Ly: af(x - 503)2 +(y - y3)2 =be] - [(x - 551)2 +(y - y1)2 - ab]
=b[(z-22)* + (y—y2)” —ac] - [(z—21)* + (y - y1)* - ab]
FERI AT A Ly ~ L LA LTI

Ly:  af(z-x3)*+ (y—ys)® —be] - [(z—22)* + (y - y2)* — ac]
=c[(z-21)*+ (y-y1)? - ab] - [(z - 22)* + (y - 42)” - ac]
Ly:  b[(z—22)+ (y—12)* —ac] - [(z—23)* + (y—y3)* = bc]
=c[(z—21)*+ (y—y1)* —ab] - [(z - 23)* + (y —y3)* - bc]
ZRE =8 ~ =R

Cy: (J;—xl)2+(y—y1)2:ab
Cp: (x-22)°+(y-y2)° = ac
Co: (z-x3)*+(y-y3)” =be

Lap: [(x=21)*+(y—11)* —ab] = [(z - 22)* + (y - y2)* — ac] =
Lpo: [(w=22)*+ (y-12)* —ac] - [(w—x3)* + (y —y3)” = b]
Lac: [(=-21)”+(y-y1)* —ab] - [(x - 23)” + (y - y3)* — bc] =

HEARHRAF LiLapLac 385> LoLapLpe 385> LsLpcLac 385 o X LapLpcLac

ZARYIE = EIRIARL o FTLL Ly Lo L FEESHA = EIRFRL ©
PR L LL LY B —ReE L L, L, e
Li:  af(z-3)*+(y—ys)” +be] - [(z—21)* + (y - y1)* — ab]
=b[(z-22)* + (y—y2)* +ac] - [(z—21)* + (y - y1)* - ab]
Ly:  a[(z-w3)*+ (y—-y3)® +bc] - [(z - 22) + (y - y2)° + ac]
=c[(z-21)*+ (y—y1)* —ab] - [(z - 22)* + (y —y2)* + ac]
Ly: bl(z-w2)+ (y-u2)* +ac] - [(z - 23)* + (y —y3)* + be]
=c[(z-21)*+ (y—y1)” - ab] - [(x - 23)* + (y — y3)* + bc]
ER =8 ~ =Rl K Cp ~ CL BRI

Ca: (z-21)°+(y-y1)* =ab
053: (x—x2)2+(y—y2)2=—
Ce (x—13)2+(y—y3)2:—

Lap: [(m=21)*+ (y-y1)? —ab] - [(z —22)* + (y —12)* + ac] =
Lpcr: [(m—22)?+ (y—y2)* +ac] - [(z—23)* + (y—y3)* + bc] = 0

Lycr: [(x—ﬂfl)Q + (y—y1)2 -ab] - [(x —963)2 + (y—y3)2 +bc] =
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HEARR AR LiLoLs BRI =B RRD o AL R L] LoLs 35 ~ L1L5Ls 3
R o

FEREW] L1LoLg HESHIBIET » SEILU T EH

FH 5. T, : [PA<PB|=a-Ty: [PA+PC|=b~Ts: [PB+PC|=c* AT, ~Ty~ T
B = (SRR 0 A(Vab) ~ 0B(Vac) ~ oC(Vbe) ML «

O

2.2.7 FRE-RRERREE - &k

DA e = 1180 70 ) H A [ 5 5 S [ 2 AR SRR I - DU B R — R R =
oG I i 2 b AR D SRR IS

SH 6. CEMEE T, PA<PB|—a~To: [PA2PC|=b-Ty: [PA<PD|=c>
—AHEAR S A Ly ~ Lll ~ Lo L'2 ~ Lg» Lé o L1LoLsy FLEh L1L'2Lg FEL S L'leLg 3t
BE~ LYLL Ly L35 i 13~ 14 °

& 13 Bl 14

%Eﬁ %%ﬁ LiLoLsg ;:[\:%5 °
A(w1,y1) ~ B(x2,92) ~ C(23,y3) > D(4,94)

Li: a[(z-23)*+(y-y3)° - (x-21)* = (y —n)* - b°]
=b[(z-22)* + (y—12)° - (- 21)* - (y— 1) - @?]

Ly : c[(z-25)*+(y-ys)’ = (z—21)* - (y — 1) - V*]
=b[(x —$4)2 + (y—y4)2 -(z —551)2 - (y—y1)2 - 02]

Ly:  al(w-z4)*+ (y-wa)’ - (x-21)° - (y—n)* - 7]
=c[(z —$2)2 + (y—y2)2 - (z —»’51)2 - (y—yl)2 —ag]

Bis
cxLy—axLo=bxLj

ToRE AR IR, -

Li: a[(ﬂf—xs)z+(y—ys)z—(95—561)2—(y—y1)2—52]

= _b[(x—$2)2 + (y—y2)2 - (ff—ffl)2 - (y—y1)2 —a2]
Ly:  c(@-z3)*+(y-ys)’ - (x-21)* - (y-11)* - b°]

=-b[(z —9174)2 + (y—y4)2 - (90—331)2 -(y —yl)2 —02]
Ly: a[(m—m)z+(y—y4)2—($—$1)2—(y—y1)2—02]

= _C[(f—fz)z +(y —y2)2 - (95—301)2 - (y—y1)2 —ag]



=
D
dim

axLy-bxLy=cxL
exLi—axLi=bxLs
ex Ly —bx Li=ax Ly

1HRE =GR LE - O

2.2.8 Ui [ o & ph 4R
8 ] 101V [ e e 4R - KSR » 1S EE R 7 o

EH 7. FHEEENE ASB~C DT, :[PA+PB|=a Ty:[PB+PC|=b>T;:
|PC:I:PD|=C‘P4I|PA:EPD|=d° %H{%% a+c:b+dH§’F1F2\I‘2I‘3‘F3F4\I‘11"4
AR —REARE R - ANE 15~ 16

& 15

. SR E -
’ﬂ; F1F2 N F2F3 N F3F4 N F1F4 E@%—‘igjcﬁ(iﬁi

Ly: a[(iﬂ—xz’))g+(y—y3)2—($—$2)2—(9—92)2—172]
“bl(x—21)? + (y-11)’ - (- 32)° - (y—12)* -] =0
Ly: b(z-2a)*+(y-wa)’ - (w-23)° = (y—y3)* - ¢*]
—c[(x—22)? + (y—92)? - (- m3)* - (y—y3)* - b°]
Ly : (z-z1)*+(y-1)° - (z—24)* = (y —ya)* - &°]
—d[(z-23)*+ (y—ys)* = (z—24)* = (y —ya)* = ]
Li: dl(z-22)*+ (y-12)° - (- 21)" - (y—11)” - a”]
—al(z-24)’ + (y-pa)’ - (w-21)° - (y-11)* - d’] =0
(=¢) x Ly + (¢ + d) x Lo BHIZ1T
+be[(z - 21)* + (y—11)° = (2 - 24)* = (y —ya)* - d°]
~bd[(x - $3)2 +(y - y3)2 —(z- 934)2 -(y- y4)2 - 02]

ve(a—b+e—d)[(w-22)° + (y-92)° = (2 - 25)> — (y — ys)* — b(a - c + d)
=0

FHa+c=b+d> HIRTFHLE

f(-21)*+(y-1m)" - (@-24)* = (y - ya)” - d°]
=d[(z - 963)2 +(y - y3)2 - (z - 5U4)2 -(y- y4)2 - 02] =0

0

0
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